w Swap Invoice Explanation

Swap invoices frequently cause confusion as they are billed separately from the loan.

Interest Rate Assumptions

LIBOR 2.00%
Loan Spread 2.00%
Floating Rate Today 4.00%

Swap Rate 2.50%
Loan Spread 2.00%
Fixed Rate 4.50%

Swap Invoices Explained — CPA’s

Borrower Pays

Borrower pays on loan 4.00%
Borrower pays on swap 4.50%
Total 8.50%

Borrower Receives
Borrower receives on swap 4.00%
Total 4.00%

The borrower’s effective fixed rate is therefore 8.50% - 4.00% = 4.50%. This matches the swap rate quoted
above.

Now, let’s assume LIBOR is at 6.00%.

Borrower Pays

Borrower pays on loan 8.00%
Borrower pays on swap 4.50%
Total 12.50%

Borrower Receives
Borrower receives on swap 8.00%
Total 8.00%

The borrower’s effective fixed rate is therefore 12.50% - 8.00% = 4.50%. This matches the swap rate quoted
above.
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Swap Invoices Explained — Borrowers

Loan Payment
Borrower pays 2.00% + 2.00% = 4.00%

Swap Payment

Borrower pays 2.50% + 2.00% = 4.50%
Borrower receives 2.00% + 2.00% = 4.00%
Borrower Net Pays 0.50%

Add the two invoices together to determine the effective interest rate.

The effective rate is therefore 4.00% + 0.50% = 4.50%. This matches the swap rate above.

Now, let’s assume LIBOR is at 6.00%.

Loan Payment
Borrower pays 6.00% + 2.00% = 8.00%

Swap Payment

Borrower pays 2.50% + 2.00% = 4.50%
Borrower receives 6.00% + 2.00% = 8.00%
Borrower Net Receives 3.50%

The effective rate is 8.00% - 3.50% = 4.50%
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Sample Payment Invoices with Principal — Mechanics
Assume a $25mm loan with monthly principal of $33,000 in a month with 30 days.
Interest Rate Assumptions

Floating Rate  4.00%
Floating interest payment will be $25,000,000 * 4.00% * 30/360 = $83,333.33.

Swap rate locked was 4.50%
Fixed interest payment will be $25,000,000 * 4.50% * 30/360 = $93,750.

Principal of $33,000 per the Note.

With a traditional fixed rate loan of 4.50%, the monthly P&l payment should be $126,671.33 as follows:

Principal S 32,921.33
Interest S 93,750.00
Total $126,671.33

How the actual mechanics will work:

Loan Invoice

Principal S 32,921.33
Interest S 83,333.33
Borrower Pays $116,254.66

Swap Invoice

Borrower pays S 93,750.00
Borrower receives S 83,333.33
Borrower Net Pays S 10,416.67

Add the two invoices together to determine the total payment.

The total payment is $116,254.66 + $10,416.67 = $126,671.33. This matches the payment from above in the
traditional fixed rate loan scenario.

Generally, this material is for informational purposes only and is not intended as an offer or solicitation for the purchase or sale of any financial instrument or as an official confirmation of any
transaction. Your receipt of this material does not create a client relationship with us and we are not acting as fiduciary or advisory capacity to you by providing the information herein. All market
prices, data and other information are not warranted as to completeness or accuracy and are subject to change without notice. This material may contain information that is privileged, confidential,
legally privileged, and/or exempt from disclosure under applicable law. Though the information herein may discuss certain legal and tax aspects of financial instruments, Pensford, LLC does not
provide legal or tax advice. The contents herein are the copyright material of Pensford, LLC and shall not be copied, reproduced, or redistributed without the express written permission of
Pensford, LLC.
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